Samagra Questions -Chapter-10:6nia0q 1363303

18@ 2100OM1003 aloa|8allom Myalla {lesa Miadalido P(X) x? —6x +5 @RYem. BRI MBo X - 1 Do @RYEM’

af)81@3

a) ANl®O® Myafla {lE8IM Mo GHM] NiaDalBo HIGNOD Marks :(3)

b) ™80 5 @RYWIT AN ag)@?

Hint: a) M™go (x - 1) , O X - b ERWIGS aloajsal= X2 —6X +5 = (x-1) (x=b) =X* _(1+b) x +b

b=5,al® (x - 5)

b) M8o=x-1=5,x=6,1®»l=x-5=6-5=1

2)P(x) 8@ M0 NIa0alBMI6eM. &SIa® P(2)=0, P(-1)=0 @wI@d Marks :(2)
a) @969 OHHIFOMIB1BBMAIVI® P(X) H 2LISHECA®”

N(x+2)d) (x+1)iii) (x +3)iv) (x = 1)

b) P(X)=0 ag)am qVAQG OO a101a00683W8 aBl?

Hint: a) (x + 1), b) a101a0006BWB= 2, -1

3)P(x)=2x2 —3x +5 @pwocs Marks :(3)
a) P(0) n@?
b) (X = 1) MNIa0a IBOD]OAF *LISEHAIEEMI af)aIM” alB1GUIWIHEBH Marks :(4)

Hint: a) P(0)= 2(0)° —3(0) +5 =5

b) P()= 2(1)* =3(1) +5 = 4, P(1) ngey0el. GR@IMOGS (X - 1) ceiso2e)

A)P()=(x - 1) (X° = X - 6) EDWIG

i) P(1) 0 @?

if) P(x) &M gam” 8aMo H®] a0 IBBBBHS DeMMaNLINIW] af)§D o

Hint: i) P1)=0o , ii) (x2 - x = 6) = (x+2)(x - 3) , P(x) = (x = 1) (x+2)(x = 3)

5) -6 x*+11lx-6 ag)m MiaOa 13O @3

a) P(1) &:6ma90a636H

b) 0D MNIa0a IO BB *LISH:0 af) LD

Hint: a)P()=1>—6(12+11(1)-6-=1_6+n-6=0

b) P(1) =0, (x - 1) 8@ aLISH0

6)a) P(x) = ax® +bx + Cag)am MIa0aIBOHOD X - 1 H®IMNE a0G1HREMIIESS t0laYo af)a®) ? Marks :(3)
b) (x - 1) *RISHMOW B@ hiaDal3o af)EDH:

Hint:  a) Wlayo = P(1) , P(x) = X° +bX+C | p)=a+b+c

X - 10L2IS&HM0®IGs a +b + c=0 , b)x2+7x-8

7)(x-3)(x-2) = X% —5x+ E@Remeal. agss1od X*-5x+6=0 )M VAN YOO oIG1a00VEBBUBB>I6MOB:
Hint: (x-3)(x-2)=0 , x?=5x+6=0 )M AVANNG: JOB]OM a101a0006EBUWB 3 Do 2 Do @RYSM” agf)an”
®10@12J01Qa0

8) 2x3+ax®+bx -9 a)M MNIa0a 13O 1O B@ *LISHAEM (X — 1) , &ZSIO® DMDIOM X — 2 OHHINE”

20@1H836MIIEBS UTlalo 27 af)e:103

a) P(1) #a3 aflel agyam?

b) a, b swaIes ailel agam?

Hint: P(1)=0 , a+b-7=0 , P(2)=27

4a+2b-20=0 a, b maies aflel ,0emamw , a=3,b=4



9)a 1030106 a BGRYWY 3@ mmgmo@m’l@;@gas Daldl®el aldqo|sallom P(a) = a2+50a ag)am iaOalBo HHIME
agaflal2flo1680M0 ag)es103 Marks :(3)

a) M agoﬂoe)mga)s 21010J@00 af)@?

b) 10801691008 MI80 10 QeN1g” @RYWO®3 (TUQJQ(OOE(L“@;@QOS Do l0I®AI alo B8OOI ?

Hint: a) 2al =50a ,1=25unit ,b) Total surface area = P(10) =100 + 50 x 10 = 60013)

10)P(x) = x2-kX-7 ag)am NiaOa 13O 1@3 Marks :(3)

a) P(1) = 3 @p@o@d k @es alleivwan”?

b) (x - 1) PRISGHNIW B@ ANV MIaOalB0o af)$DH

Hint: a)12-k1-7=3 ,1-k-7=3 , -k-6=3 , k=-9

b) Xx2+9x-10 , X - 1°2ISHNIW aF® MIaOalB0o af)§® 0

MP(x) 8@ 0620 HO MIaDaIB3MM . M®1OHF B@ CLISHNIGM” (X-1) &S00 P(7) = 0 )]s

a) P(x) om @me” 8ando HH,®1 NIa0n IB63BBOS YWMMaNLINIW] af)§Dd: Marks :(3)

b) X 3 age®Eeldo afleld:WBH96eM” P(X) = 0 @RYHIN®’

Hint: P(x) = (x-1)(x-7) , P(X) = 0 @@@o@3 , (x-1)(x-7) =0 , (x =1) GReLIB]T (X = 7)

12)P(x) = ax3+bx2+cx+d ag)am NIa0a IBOWNAY ALISH6BBB6M” (X-1), (X+1) ag)e»1@3 Marks :(4)
i) a=-¢, b=-d o)’ 6O SNV H63H

i) ax3+bx2-5x+3 QOS LISHHEBBEBIGN (X-1), (X+1) af)81@3 A af)@? b af)@?

Hint: X - 1&®@3 ceIsdho , P(1) =0

a+b+c+d=0 ----(1) , -a+b-c+d=0 ----(2)

From (1) and (2) , a=-C, b=-d , a=5,b=-3

13)P(x) = 2X3-X2-8x+4 af)aM NIaOa 13O 1@3 Marks :(4)
a) P(0) e @?

b) p(1/2)s:06mm06,

¢) P(X) 0 8@ cLISdho af) D H

Hint: a) P(0) = 203-02-80+4 = 4

b) P(1/2) = 2123-122-812+4 = 0

C) 2x -1

14)a) X247X+6 af)aM MIa0aIBO@M ONE" 190 H®1 MIa0A IBEBRBNS VIMMANLINIW] af)EMIM BRYAIUD IO ISEA|IWB

D0 M(@JHhIo af)g@®1 MBI Marks :(4)
X2+7X+6 = (x-a)(x-b)

X2+7Xx+6 = X2 - (a+b)x + ab

(@9Qa1010020@MIM” AMAIOM M0V THBH

enfl) x2+7x+6=0

MUY (JUIOD]NM 2 lB1a0I0EBBUB HI6MOD:

Hint: x2+7x+6 = (x-a)(x-b)

X2+7x+6 = X2 - (a+b)x + ab

a+b = -7, ab = 6 @Y ag)aN” M1B1 2J0TQYD

(MV2QRG OD]OE! DBAUNADASS MIaDa IBERSINLI A IBERBNS YVEM:EEBRUW DEIYNEM” af)MM” G1@1.2J01QM)
a=-6, b=-1 ag)an” ®1@1aj01Q)aM

(@& -7 9o YeMManLIo 6 Do BRYW NG MV MW HheNGallS1HEID)

X247X+6 = (X- -6)(X- -1) = (X+6)(x+1)

X24+7X46 = (X- -6)(X- -1) @RPYYWIMIGI

X2+7X+6 = 0 af)aD MVANNNHJ(JUIOD]IOM 2 I01a0006BBWB -6 Do -1 Qo BRYHEMAN” @1 2J0TQAD



